2Ol EORERZFORBITH LT, ED2 SOEF 2 ANEATHIROXER LT85 b D a2 L

WO, Fio, 20U BB AR OREICKH LT, ED2 5D E ANEZL THIudAD -

b DERHEN D,

(1) 3&HBEHKICR LT, ko (1) ~ (i) ZFEFE L,
(1) Gaprsl) = Cefral) X G
(i) (AR = Cpral) X (ZZRF)
(i) Gaprel) = () X (ZRA)
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(2) 24t f(x,y,2) i MR g(xy,2) BT, (0= y)y —2)z - x)x glr, pz) O TRA S

S ?
(3) fy(ab.c)=a"(b=c)+b"(c~a)+ " (a=b) TiksT 5.

(1) fyla,b,c) % Rt Rt X,

(i) fy(a,b,c) % FES iRt X,

(i) fy(a,b,c) % EE AR X,

(iv) f5(a,b,c) & REAHRAE X,

(f/20)
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(1) fx,p,2)g0x,y,2) 2B L T2 L, dHROERLD.
fy.2)= fx,2)= f(x.2,) = f(z,.%)
glx.r.2)=gly.x,2)=g(x.2,y) = glz,5,%)

N AIRVESN

h(x,y,2)= f(x,y,2)x g(x,y,2) £B< &

h(y,x.z)= f(y.x,2)xg(y.x,2) = f(x, 3.2 )Xg(x v,z)=h(x,y,z)
h(x,z,y)= (xzy)xg(xzy) f(x,y.2)x glx,y,2) = h(x, y,z)
h(z,y,x)= f(z,y,x)x g(z,5,x) = [ (x,3,2)x g(x, y,2) = h(x,y,2)
I/ h(x,y, )—h(y,x,z)—h(x,z,y)—h(z,y )

ThoHME. hx,y,z) 3R HRTH S,

(i) £y, z) 2B, glr,y,z) 2R ET2 L, MHFRELREOEHRLY,
fep.2)=f(vx,2)= f(x,2,9)= f(2,9.%)
gx.y.2)=—gly.x,2)=—g(x,z,y) = —g(z,.x)

ThHME, hx,
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2R LT DL, ZRKDERLD .
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f(x,y,z)=—f(y,x,z):—f(x,z,y):—f(z,y,x)
glx,y,z)=-g(y.x.z)=—g(x,z,y) = -g(z,y,x)

hx,y,2)= f(x,p,2)x g(x,y,2) £< &

Wy, x,2)= f(v,%2)x g, x,2) = =f(x,3,2)x {- g(x,y.2)} = h(x. y. )
h(x,z,y)= f(x.z,y)x g(x.z y) —f(x,,2)x {-g(x,y,2)f = h(x, y,2)
Wz,.%)= f(z,3,x)x g(z,5,x) = = f (%, 3, 2)x = g (%, y,2)} = h(x, y,2)

ThoHb. hx, y,z)mﬁmmpéo
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= —{a"(b—c)+b”(c—a)+c”(a—b)}
=—/fulabic)
fola,c,b)=a"(c—b)+c"(c—b)+b"(a—c)
= —{a"(b—c)+b”(c—a)+c”(a—b)}

=—falab.c)
fole,b,a)=c"(b—a)+b"(a—c)+a"(a—c)

=—{a"(b—c)+b"(c—a)+cn(a_b)}

:_fn(aﬂb’c)
YoT, f,(a,b,c)3mfEThHi0T, (a—b)\b—c)c—a)zREcH-,

(i) fz(a,b,c)zaz(b—c)+b2(c—a)+cz(a—b)!i3¥/"(£ﬁf“§>@\ (a—b)Yb—c)c—a)TEl> 7w



w250, at(b-c)+b*(c—a)+c*(a-b)=kla-b)b-c)c—a) L BT 5.,
a=2b=lc=05tF2%&,

22(1-0)+1%(0-2)+02(2-1)= 4(2-1)1-0)0-2) kv 4=-1

LT, fylabc)=—(a—bYb-c)c—a)

(i) fy(a,b,c)=a’(b—c)+b*(c—a)+c(a-b)ixdktTh v, (a—b)b—clc—a)Thl - 7=pEE
1RO a+b+c &7 D00,
a*(b-c)+b*(c—a)+c(a—b)=Ala-b)b-c)c—afa+b+c) L BT 5,
a=2b=lc=0tF25&,
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(i) fy(a,b,c)=a*(b-c)+b*(c—a)+c*(a-b)1E5%ThH Y, (a-b)b-c)c—a)Thl-7RE1E
2RORBRE 72 D5
a*(b-c)+b*(c—a)+c*(a—b)=(a—b)b—c)c - a)dla® + b2 + 2 )+ Blab + be + ca)|

LBITD,
a=2,b=1lc=0%,T5L,

24(1-0)+1*(0-2)+0*(2-1) (2—1)(1—0)(0—2){,4(22 +12 +02)+B(2-1+1-0+0-2)}

XV54+2B=-7
a=1b=0,c=-1&,75¢&,

140+1)+0*(-1-1)+(-1)*(1-0)

= (1—0)(0+1)(—1—1)[A{12 +0? +(—1)2}+B(1-0+0-(—1)+(—1)-1)J

LV24-B=-1
FoT, 4=B=-1

D ZIZ, f4(a,b,c):—(a—b)(b—c)(c—a)(a2 +b% +c? +ab+bc+ca)

(iv) fsla,b,c)=a’(b—c)+b(c—a)+c(a—b)iE6 k&K THY ., (a—b)b—c)c—a)Thl-7-pdE
3IOXFRA L 2 D5

a’(b—c)+b(c—a)+c’(a—b)



= (a—b)(b—c)(c—a){A(a3 +b° +c3)+ B(azl7+ab2 +b%c+be? +ca +ca2)+ Cabc}

LB,

a’b DIFH A LT, —4=1

a*b? DIFSAE LT, A-B=0

a’brc DIRS A IR L T, —A+B+B-C=0
YoT, A=B=C=-1

Pz Iz,

fs(ab,c)=—(a —b)(b—c)(c—a)(a3 +b° +¢ +a’b+ab® +b*c+be? +cta+ca? +abc)



